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BERE FHEA) hE(B) =R(A)-(B) =

=E-ES'ON 131, 893, 000 132,136, 240 -243, 240
IR | SZERFI B S EURA 11,000 7,299 3,701
i A |zofbOURA 1,170, 000 1,150, 950 19, 050
& FEFESHIAGT (1) 133,074, 000 133, 294, 489 -220, 489
E7) AFEZH 97, 881, 000 97, 215, 868 665, 132
(€ FEETH 10, 476, 000 9,975, 600 500, 400
& % | BBEZH 6,627, 000 6,210, 752 416, 248
E tH ZIFIEZH 4,000 2,728 1,272
¥ EOMOZH 1,100, 000 1,074, 350 25, 650
FEESZHET (2) 116, 088, 000 114, 479, 298 1,608, 702
BEEHESIZERE (3) = (1) - (2) 16, 986, 000 18,815, 191 -1, 829, 191
g ”j R RERAS (4) 0 0 0
L] HMRESBASTREETH 1, 620, 000 1, 620, 000 0
% % |EEEERSZ T 6,410, 000 6, 409, 800 200
i; tH EEEERA - FEESZH 168, 000 167, 200 800
F e REESZ AT (5) 8,198, 000 8,197,000 1, 000
X | SR RS ERINZ=%E (6) = (4) — (5) -8, 198, 000 -8,197, 000 -1, 000
:;; UR | & EEEERARUNA 187, 000 186, 400 600
& A |zothosEEIRAST (7) 187, 000 186, 400 600
B | % |EIEESH 8,726,000 8,726, 000 0
|t [RomomEm= LT (8) 8, 726, 000 8, 726, 000 0
& EOMhoEENERUNZERE (9) = (7) — (8) -8, 539, 000 -8, 539, 600 600
Fliwgzt (10) 200, 000 200, 000
WHAE SN =SEEET (11) = (3) + (6) + (9) — (10) 49, 000 2,078,591 -2,029, 591
RIARZINESES (12) 31,116, 303 31,116, 303 0
WHARZINESRES (11) + (12) 31,165, 303 33,194, 894 -2,029, 591




